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Statistical Analysis
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Note: Answer from both the section as Directed. The Figures in the right-hand
margin indicate marks.

|US—3 / Section-A
fr=feaa awgfis /aifd - el @ Swr €|

Answer the following objective/short-answer type questions. 1x10
(1). Ree) & s & T80 O T @ FHIB Bl e FET I |
In statistics the collection of all elements under study is called.
(2). “wiRed o o fawe 8- U fehaer U 87
“Statistics is a science of counting”- Whose statement is this?’
(3). WERYT BT HEY SH AU DI G 50
Which is the best measure of dispersion.
(4). @ whorEa qunie B 8§ 87
What are the two regression coeffevents?
(5). Fadt g AESA BT AE TG FEARN 87
What is a graph of cumulative frequency distribution called
(6). ST Ve FT AR TONG 25% B T WA 20 8| WATOT fEerT S BN |
The coefficient of variation of a data set 25% and the mean is 20. Find the standard de
viation,
(7). R P "edr gAY HeA B URemM ¥ suiiag el & @ a1 EeA.... ... BT B

If one event is unaffected by the outcome of another event, the two event are said to

(8). T il 2 f% fmer o B @ S @ (F IR SI9TEY W TN § WhET BT 87
What is the probability that the sum 8 appears in a single toss of a pair of fair dice?
(9). IR p(A and B)=0.3 m p(B)=0.4 T p(A/B) BT
If p(A and B)=0.3 and p(B)=0.4 then p(A/B) is ......
(10). g R R wE ... W . W 3§

In constructing two-dimensional diagram------and ------ are considered.

2. Ao T—Say 7 & IaR A | 2x5
Answer the following short-answer type questions:-

(1).  wesrael &1 @ 3k 27
What is meant by Questionnaire?

(2). N woaw & ubm TE & o e sl aiftges Rl @ ave we W
I fhar ST ® ,
Write five main areas of modern business where statistical method are extensively
used.

(3). et sipel @ X @MY & #eaaTel 999 |8 Ha9 Ud B 7] Y
Calaulate karl pearsons correlation coefferient between X and Y from the following
data-
N=11, ex=117, €x’=1313 €y=260, €y°*=6580 , Exy=2827

(4). o R Soe oK € T wfiem § f5 9 i o & N?
Three coins are tossed , what is the probability that they all fall heads?

(5). anwel B g @ fow Swr BT oW g fBE A9 veR @ T $R Gl 3
Ioerd BN |

Mention any three types of charts and diagrams used for data presentation.




WOE—H / Section-C

frfaftag axf- sodia 9 & S DT 12x5

Answer the follwoing long-answer type question.

(3).

(4).

(5).

(6}.

(7).

Unit ~ I
AP D TAHT § MW T GASA 7 AFS P UR WHR @ fipeor T 57

What do you mean by classification of data? What are the four type of data classification?

OR

“gies) w1 ST S9 3 fd B e TG B W TRY T A9 R B S A B
T WER B fiw o 2w |
“Statistics should not be used as a blind man uses a lamp post for support instead of for
illumination” Discuss.

Unit-11
g 5 FH-—FR f T B IO T AT TS TIES B IR H AHERI (P B
TN s R w37
Explain why it is sometime necessary and often desirable by conducting a sample survey
instead of complete enumeration.

OR

TeIfE iR f3dfus aue Y e W, gFd g o R o o S R ® Tad R
IHT ITANT g S W@ 21
Explain the terms primary and secondary data, distinguish between them and state the
circumstances in which they may be used.

Unit-111
e Fiftad ofer § oo X @ Y @ g 10 BT 3 Pftafefaa o Ry o &1 = s A
a1 WradE @1 gEdsy TS TR BN |
Calculate Spearman’s coeffrrient of correlation between marks assigned to 10 students judges
X and Y in a test as given below:-

sno 1 2 3 4 5 6 7 8 9 10
judgeX 52 |53 |42 |60 45 41 37 38 25 27
judge Y 65 |68 |43 |38 77 48 35 30 25 50

OR
Prefarfies aifera ve FAfeg wer & 150 B R WIS St @ arghe AR B g9l 8
The following table given the freqveby distribution of marksd obtained bt 1350 students in a certain
examination:

0—10 7 ' 40—50 30
10—20 10 50—60 28
20—30 20 60—70 10
30—40 a0 70—80 5

SR faaeor QA wreg A e iR fERr e B e il |
From the above distribution calculate mean standard deviation and coefferient of variation.
Unit-IV
T S Ao 5 A @ Qa3 13 U 9eh v v F ARt @ 8|
Find the probability that in a game of bridge a hand of 13 cards will contain all the four aces.
OR
of2 v S T B Wt & a1 7 WA 8 B A 7 A 7 ofk 7 8 1 8
If a pair of dice is thrown, find the probability that the sum is neither 7 nor 11.
Unit-V

Frefafaa smgia Ravor & W @ fat vw amgfea smaa o 91gd—
Draw a histogram to respresent the following frequency distribution:-
s (e WA Hugy) | 500- 510- | 520-  530- 540- | 550- | 560- | 570-
output (unit per working 510 520 [ 530 540 550 {560 | 570 | 580
HFGR B T 8 18 23 37 47 26 16 5
No.Of workers
OR

Tt e s TE-E @@ 7 ofiwel @ 9 PR W wel B S gPRR R W e gw
TE o § 1 wa] 5§ A 9 I E
What is a pie chert? Discuss the types of data which are usually represented by pie Disgram.

State how they are drawn.




